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R4 1 |FAF 1,760 50 880) 0 0 0 0 0 880 0 0
R4.4.2} 2 (WM (BFEHH. SRHB B,865] 100] 8.865 0 0 0 0] 8,865 0 0 0
R4. 4.2| 3 [BiEimft 1,200] 100 1.2000 1,200 0 0 0 0 0 0 0
R4.4.3| 4 |HVU ot 4,115] 50| 2. 057 2,057 0 0 0 0 0 0 0
R4. 4.4 5 [BHEHS(GEBEN~DLEYE) 370] 100 370) 370 0 0 0 0 0 0 0
Ri. 4.4 6 |HR—LA—UgmEy 16,500 95] 15,675 0 15, 675 0 0 0 0 0 0
R4.4.5) 7 (EigEimft 600] 100 GOUI 600 0 0 0 0 0 0 0
R4.4.7| 8 |EEd#izfe 4001 100 400' 400 0 0 0 0 ] 0 0
R4.4.71 9 |BEAHK (2/7~3/6) 11,353] 50} 5,676 0 0 0 0 0| 5,676 0 0
RA.4.71 9 [HR (2/22~3/24) 4,300 50 2 150' 0 0 0 0 0 2,150 0 0
R4. 4.7 10 |HEH(EES»—F L) 8,840] 100] 8, 840| 0 0 0 O] 8.840 0 0 0
R4.4.13] 11 [EEHIRE(24) 1,300 100 1, 300| 1, 300 0 0 0 0 0 0 0
R4.4.14| 12 |&mfEL > 5 h—1L(4/15~4/2D) 21,800| 500 10, 900' 10, 800 0 0 0 0 0 0 0
R4. 4.14] 13 [EEEEIB{L 500 100 500 500 0 0 0 0 0 0 i |
R4.4.16| 14 IHw it 4,534 501 2, 267 2, 267 0 0 0 0 0 0 ] |
R4.4.16] 15 [REEEIG{L 7501 100 750 750 0 0 0 0 0 0 ] |
R4.4.18| 16 {EEEHIRE 700] 100 700 100 0 0 0 0 0 0 OI
R4.4.18| 17 |REEEEA (€1 LB 13,860 501 6,930 0 0 0 0 6, 930 0 0 —Ol
R4.4.20| 18 |EHAAMGAS 120,110 50] 60,055 0 0 0 0 0] 60,055 0 0|
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R4.4.211 19 |#Hv Y it 2,383] 50 1,11 1, 191 0 0 0 0 0 0 0 0 0
R4. 4. 211 20 |3Z:%%( JR+TH/AR) 1. 480] 100 1,480 1, 480 0 0 0 0 0 0 0 0 0
R4.4.21| 21 |BSLEER 2,700 100' 2. 700 2,700 0 0 ] 0 0 0 0 0 0
R4.4.22| 22 |kiEfe(1/21~3/23) 3,036 50' 1.518 0 0 0 0 ¢ 0 0 1,518 ¢ 0
RA. 4. 24| 23 [Er&ig{ 8001 100} 800 800 0 0 0 0 0 0 0 0 0
RA.4.25] 24 |#hf6H (MRTIHIEZEASD) 10, 000 100' 10, 000 0l 10,000 0 0 0 0 0 1) 0 ol
R4.4.25] 25 |EHRARACQE—#1 24 11, 502 50| 5, 751 0 0 0 0 0 0 0 0 5, 751 ol |
R4.4.25| 26 |Exduigst 400 100| 400 400 0 0 0 0 0 0 0 0 OI
BEEH (KDDI 3H4Y) <HHiF

R4. 4. 25] 27 11.178M., #t@sh2. 1898 > 11,178 50I 5. 589 0 0 0 ] 0 0 0 0 5. 589 OI
R4. 4. 26| 28 |stEigE 1,000] 100 1, 000 1. 000 0 0 0 0 4] 0 0 0 0
R4.4.26) 29 |EFEIG{E(24) 660] 100 660' 660 0 0 0 0 0 0 0 0 0
R4.4.27| 30 [FAF 1.760F 50 880' t] ¢ 0 0 0 0 0 880 0 0
R4.4.27| 31 [ —TINETH & 7.395] 50 3. 697 0 0 0 0 V] 0 1] 0 3. 697 |
R4.4.28| 32 |EIEEEWHBBERE 4RSS 43,8401 501 21,920 0 0 0 0 0 0 0 0 ol 21,920
R4.4.29] 33 {HVUVE 3.5301 50 1,765 1, 765 0 0 0 0 0 0 0 0 OI
R4.4.30| 34 |&EAERSRE (ABEHEE) 1.887] 1000 1,887 0 0 0 0 0 0 1,887 0 0 —Ol
0 0 0 0 0 0 0 0 ; 0 EF

AH 325, 408 191,353] 31.040] 10,000 0{ 15,675 0 0] 26,5221 71,159| 15,0371 21.920




(Efdtrst 4)

= K & &
[BR% EW)
£304% 584 [ERAEY]
(B - A
ﬁg lﬁﬁéﬁﬁ%ﬂﬁ FERER (REOHR)

£RH BE BEHLRARE - §E FHE % lg 55 pree—
= (%) mawnn| FHER | 29% |canwr| S REEmR| RemAR| Bk Exe | Ann

e LEUR
RA.5.6| 1 |EEZEBst(2#) 1,300 100}  1.300] 1,300 0 0 0 0 0 0 0 0 0
R4.5.6| 2 [EEEBR(EE~VDLEEYR) 520| 100| 520 520 0 0 0 0 0 0 0 0 of
RA.5.6| 3 |h—LR—UEER 16.500] 951  15.675 0 0 ol 15,675 0 0 0 0 0 o|
RA.5.6| 4 |motl (REwFE. S0HE) 8, 865| 100 8, 865 0 0 0 0 0 o| 8865 0 0 0
Ra.5.8| 5 |Hvur 3.186| 50 1,503] 1,503 0 0 0 0 0 0 0 0 0
RA.5.8| 6 |EHES(aE—F#) 2.316| s0] 1,158} 0 0 0 0 0 0 0 ol 1.158 0
R4.5.10| 7 |EEEiBec (34D 1.640| 100 1.640] 1,840 0 0 0 0 0 0 0 0 0
RA.5.10] 8 |BE4X(3/7~4/6) 9,535| 50 4,767 0 0 0 D 0 0 o 4767 0 0
RA.5.10| 8 |H Rt (4/21~5/24) 3,760] 50 1,884 0 0 0 0 0 0 o| 1,884 0 0
R4.5.12| 9 |ErEigt 700| 100 700 700 0 0 0 0 0 0 0 0 0
R4.5.13| 10 |ExsEiEft 500| 100} 500 500 0 0 0 0 0 0 0 0 0
R4.5.16) 11 |ErsEigfc 700/ 100| 700 700 0 0 0 0 0 0 0 0 0
Ra.5. 16| 12 |Hvy i 1,000 50 500 500 0 0 0 0 0 0 0 0 0
R4.5.16) 13 |E&A (Y 51 2R4.4~R5.3) 3.800| 100 3. 800] 0 0 0 0 0 o| 3.800 0 0 0
Re.5.18] 14 [ExsEsBiv(2 ) g40| 100 540F 640 0 0 0 0 0 0 0 0 ol
R4.5.10| 15 |EEsipit(248) 1,060 1ooi 1,060f 1,060 0 0 0 0 0 0 0 0 0
R4.5.20| 16 |ERSEIB{(214) 600 100] 600 £00 0 0 0 0 0 0 0 0 0
RA.5.20] 17 |BEFEH(6B%) 120,110 50} 60,055 0 0 0 0 0 0 o| 60,055 0 0
Ra.5.22| 18 |Exmsimit 200| 100 200 200 0 0 0 0 0 0 0 0 0
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Ra.5.22 19 |Hv ok 3.123| 50 1.561]  1.561 0 0 0 0 0 0 0 0 0
R4.5.23| 20 |EEEEIBst 200 100} 200] 200 0 0 0 0 0 0 0 0 0
RA.5.23| 21 |FFER (HETHEEAL) 10, 000 1ooi 10. 000 o| 10.000 0 0 0 0 0 0 0 of
RA.5.23] 22 |3EHER(HRE. 47 —28) 30,840| 100] 30,840 0 0 0 ol 30840 0 0 0 0 0
TEE/E (KDD) 4R %) <xi%%s
R.5.25| 23 [(57ars s 11,382 50 5. 601 0 0 0 0 0 0 0 o| 5 601 0
Re.5.27| 24 [NHKZES 4,340| 50 2.170 0 0 0 0 0 0 0 of 2170 0
R4.5.27| 25 |[7—TNETHIS 7,263 50 3, 631 0 0 0 0 0 0 0 o 3. 631 0
RA.5.27| 26 |BREEIBLE(244) 030| 100 o30] 930 0 0 0 0 0 0 0 0 0
R4.5.27| 27 | R4 (5/24~6/22) 2.523| s0| 1,261 0 0 0 0 0 0 ol 1,261 0 0
Re.5.27| 28 |¥zxoi 1.7600 50| 880 0 0 0 0 0 0 0 0 880 0
R4.5.31| 20 |ErsEipst 400| 100 400 400 0 0 0 0 0 0 0 0 0
RA.5.31f 30 |[BENERBEBAEKRSGAS) 40,5200 50| 20,260 0 0 0 0 0 0 0 0 o| 20.260
Re.5.31] 31 |&EmU—=t 4584 96,360 50| 48 1s0] 4s. 180 0 0 0 0 0 0 0 0 0
Re.5.31| 32 |meamsses (amiwm. SEER 6.187 100 6,187 0 0 0 0 0 o| 6187 0 0 0
0 0 0 0 0 0 0 0 0 0 ol
0 0 0 0 0 0 0 0 0 0 ol
g3t 302, 769 238, 348| 61.224] 10,000 o| 15 675] 30,840 o| 18.852] 67.967] 13.530] 20 260
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R4.6.2| 1 |Efsiifift 500 100] 500 500 0 0 0 0 0 0 0 0 0
R4.6.3| 2 |EHE(2E—HEBS) 5,060 50| 2 530 0 0 0 0 0 0 0 0| 2 530 0
R4.6.3| 3 |EBEE(IVILER) 4,712| 50| 2 356 0 0 0 0 0 0 0 0| 2 356 0
R4.6.31 4 |HVY it 3,268 50| 1.634] 1,634 0 0 0 o 0 0 0 0 of
R4.6.3| 5 [h—LR—SEHEDE 16, 500] 95| 15,675 0 0 0| 15,675 0 0 0 0 0 ol
R4.6.4| 6 |EEELIBH (214) 1,700( 100] 1,700] 1,700 0 0 0 0 0 0 0 0 0|
R4.6.4) 7 (FEH (BRI F—FW) 97,966| 100] 97. 966 0 0| 97,966 0 0 0 0 0 0 ol
R4.6.4| 8 |/N\HEEHEHK (HBEL+—ME| 7,560] 100] 7,560| 0 0| 7,560 0 0 0 0 0 0 0|
RA.6.4| 9 [7iL/ia riy 6, 500| 100] s.500] 0 0] 6.500 0 0 0 0 0 0 of
R4.6.4| 10 [B&ETH 33,000 100] 33,000 0 0| 33,000 0 0 0 0 0 0 ol
R4.6.6| 11 |Ed & (4/5, 4/26) 1,880} 100] 1.880] 1,880 0 0 0 0 0 0 0 0 0
RA.6.7) 12 |EhE¥ (BRiEz = F—FHEM) 400; 50| 200 0 0 0 0 0 0 0 0 200 0
R4.6.8| 13 [B&IL 4/7~5/9) 5,730 50} 2,865 0 0 0 0 0 0 o 2,865 0 ol
R4.6.11| 14 |EX=EiB4 600 100} 600 600 0 0 0 0 0 0 0 0 0
R4.6.13| 15 |EEZEIH{E (444) 2,110/ 100} 2.110] 2,110 0 0 0 0 0 0 0 of
R4.6.14| 16 |BEEEIBIL (2{4) 700( 100 700 700 0 0 0 0 0 0 0 0 0
RA.6.14 17 |EHE (0 E—FiE) 4,567| 50| 2.283 0 0 0 0 0 0 0 0| 2 283 0f
R4.6.14| 18 [HEIERK (0 E— ) 2,060 50| 1,030 0 0 0 0 0 0 0 ol 1,030 0
R4.6.15| 19 |EEEEIBIE Q) 1,300 100} 1,300] 1,300 0 0 0 0 0 0 0 0 0




(Eftee=t4)

2 H B &
[HE% RE)
SHAE 6 B4 [kEHEY]
(BF - [A)
i | gﬁsﬁlﬂﬁgﬁ BREE (FNORR
£8R e BFMILRNE - Fg FHEE T T
= (%) ] g5 |WEWER| DHER | SME |nmnmg|S RAFERR| REMAR(EHTR| FHE | AR
#= FiEBHE
R4.6.16 20 (EHEMHX(BELI+—BFR) 6,468| 50] 3,234 0 0 0 0 0 0 0 0| 3,234 0
R4.6.18) 21 |EXEEIR{t 200] 100 200 200 0 0 0 0 0 0 0 0 0
R4.6.18] 22 |ErEEiB{t 700{ 100 700 700 0 0 0 0 0 0 0 0 0
R4.6.19| 23 |HV 1 ik 3.869| 50| 1,934] 1.934 0 0 0 0 0 0 0 0 0
R4.6.20 24 (EiELiBit 200( 100 200 200 0 0 0 0 0 0 0 0 0
R4.6.20| 25 |EEAEH(7AS) 120, 110| 50] 60, 055 0 0 0 0 0 0 0| 60, 055 0 0
R4.6.221 26 (BRIt (Bt = +—RB%) 35,200| 100] 35, 200 0 0| 35.200 0 0 0 0 0 0 0
R4.6.23| 27 |(BHEER (BPRTHREEASD) 10, 000( 100] 10, 000 0| 10,000 0 0 0 0 0 0 0 0
R4.6.24] 28 {Hv ot 2,665 501 1,332] 1,332 0 0 0 0 0 0 0 0 0
R4.6.24] 29 |FRF 1,760 50 880 0 0 0 0 0 0 0 880 0 0
R4.6.27] 30 |r— T NETH £ 7,572 50| 3,786 0 0 0 0 0 0 0 0| 3,786 0
R4.6.27) 31 |BEE{X (KDDI 5A %) 9,849 50| 4, 924 0 0 0 0 0 0 0 0f 4,924 0
R4.6.27| 32 |/KIEFE (3/24~5/23) 3,036 50| 1,518 0 0 0 0 0 0 ol 1,518 0 0
R4.6.30| 33 |EEEEig4t 600| 100 600 600 0 0 0 0 0 0 0 0 0
R4.6.30| 34 [HEFEJ—RR (GRS 48,180| 50] 24, 090] 24, 090 0 0 0 0 0 0 0 0 0
RA.6.30| 35 |HEATHEEEB#S 6AS) 50, 480 50| 25, 240 0 0 o 0 0 0 0 0 0] 25,240
R4.6.30 e (LB e B4 1,887( 100] 1,887 0 0 0 0 0 0] 1,887 0 0 0
36
R4.6.30 Btk (R FEHM S A4 4 565 100] 4,565 0 0 0 0 0 0| 4,565 0 0 0
A&t 503, 454 362, 734] 39, 480( 10, 000180, 228 15, 675 0 0 6,452 65,318] 20, 343] 25, 240
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RA.7.1| 1 e (42 B 27RR) 4,300] 100] 4,300 0 0 0 0 0 o| 4 300 0 0 0
Re.7.3| 2 |Hvy o a,008| 50| 2 004 2 004 0 0 0 0 0 0 0 0 0
RA.7.4| 3 |ErEsBc 200| 100 200| 200 0 0 0 0 0 0 0 0 0
RA.7.4| 4 e 120 50 60 0 0 0 0 0 0 0 ol 6o 0
RA.T.4| 5 |h—br—oEEe 16,500 95] 15,675 0 0 o| 15 675 0 0 0 0 0 0
RA.T.4| 6 |SEBe(OEEYE. B a,280| 100] 4, 280| 4,280 0 0 0 0 0 0 0 0 0
RA.7.5| 7 |Emszsm 140| 50 70 0 0 0 0 0 0 0 of 70 0
R4.7.5| 8 |EEEE 558 50 279 0 0 0 0 0 0 ol 279 0
R4.7.8] 9 |Exame 800{ 100 sool 800 0 0 0 0 0 0 0 0 0
RA.7.11) 10 |EXEIB4E (24 1.140] 00| 1, 140] 1. 140 0 0 0 0 0 0 0 0 0
Ra.7.11] 11 ﬂ&ts*_ﬁﬁg*ﬁﬂzﬁﬁ 192, 280 100 192, 280 0 o[ 192, 280 0 0 0 0 0 0 0
Re.7.13| 12 |EEsiBt (24) 700| 100 700 700 0 0 0 0 0 0 0 0 o]
Re.7.14) 13 [BEEEIBfC Q) 900| 100 soo] 900 0 0 0 0 0 0 0 0 ol
Ra.7.14] 14 |[H vy vt 8175 so| 2087 2 087 0 0 0 0 0 0 0 0 ol
Re.7.15| 15 |Etaim e 300 100 s00] 300 0 0 0 0 0 0 0 0 ol

Bad (ABET)

a7 15) 16 [enn (HEE 4,766| 100| 4,766 0 0 0 0 0 o| 4.766 0 0 o]
R4.7.16| 17 |Epakk 280 50| 140 0 0 0 0 0 0 0 0 140 0
RA.7.16| 18 |BREEH (RS v —F ) 8, 400 1oo| 8, 400 0 0 0 0 0 of 8, 400 0 0 0
ra.7. 19| 19 | 5, 292 sol 2. 646 0 0 0 0 0 0 0 o| 2 646 0
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R4.7.20] 20 |BXEEiZ{% 500| 100} 500 500 0 0 0 0 0 0 0 0 ol
ra.7.20| 21 @ity 1764 50| 82 0 0 0 0 0 0 0 ol ss2 o]
re.7.200 22 |EmTREGED 120, 110 5o| 60, 055 0 0 0 0 0 0 o| 60, 055 0 o|
Re.7.20| 23 |H = 6/22~7/22) 1,073 5o| 536 0 0 0 0 0 0 o| 538 0 o]
Ra.7.22| 24 [zt 1, 850 50| 925 0 0 0 0 0 0 ol o 0 0|
Ra.7.22| 25 |BBBEHBBALS (7 59) 37,200 5o| 18, 600 0 0 0 0 0 0 0 0 0 I&BOOF
RA.7.25| 26 |FHEE (RETREEAL) 10, 000 1oo| 10, 000 o| 10,000 0 0 0 0 0 0 0 0

BER K0 TS <H5E

Ra.7.25[ 27 |fBFatt (KDL T3 <3 12,57 50| 6 289 0 0 0 0 0 0 ol & 289 0
Re.7.27| 28 |r—TnNETRIS 7.53| 50} 3 767 0 0 0 0 0 0 0 o| 3 767 0
Re.7.27| 29 [Nk iEs a3 so] 2170 0 0 0 0 0 0 0 o|l 2 170 0
Re.7.28| 30 |Ermimsc 700| 100 700l 700 0 0 0 0 0 0 0 0
re.7.20 31 vy i 37300 so] 1,869 1,869 0 0 0 0 0 0 0 0 0
o| 0 0 0 0 0 0 0 0 0 0
o] 0 0 0 0 0 0 0 0 0 0
0|. 0 0 0 0 0 0 0 0
E 450, 527 347, 320] 15, 480] 10, 000|192, 280] 15, 675 o[ 17.466] 61,516] 16, 303] 18, 600
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Re.8.1| 1 |mrmms ool 100]  soo] 800 0 0 0 0 0 0 0 0 0
Re.8.1| 2 |EBU~2 (784 48.180| 50| 24.000] 24090 0 0 0 0 0 0 0 0 0
Ra.8.1| 3 ,Eg?*“ﬁ*mﬁm BEME. WFH| 10 750 100] 10,752 0 0 0 0 0 ol 10.752 0 0 0
Re.7.27| 4 |EE4(5/10~6/6) a.600] 50| 2 300 0 0 0 0 0 0 o| 2 300 0 0
Re.8.3| 5 |srmme so0l 100]  so0] 500 0 0 0 0 0 0 0 0 0
R.8.3| 6 |[h—sr—wsme 16,500 95| 15,675 0 0 0| 15,675 0 0 0 0 0 0
RA.8. 4| 7 |mamiEse(6/22. 6/24) 0.350| 100] 9. 350] 9,350 0 0 0 0 0 0 0 0 0
R4.8.5| 8 |m&ik(6/7~7/6) 55730 50| 2. 786 0 0 0 0 0 0 o| 2786 0 0
R4.8.5| 8 |#Hz(6/23~7/22) 1.073] 50| 536 0 0 0 0 0 0 o| 536 0 0
R4.8.6| o |Emipix a00| 100] 400l 400 0 0 0 0 0 0 0 0 0
R4.8.10| 10 |srEmigec 3p 1.300| 100] 1,300] 1,300 0 0 0 0 0 0 0 0 0
Ra.8.11) 11 |mmime g00| 100]  soo|  s00 0 0 0 0 0 0 0 0 0
Ra.8.11| 12 |epmigec goo| 100]  soo]  soo 0 0 0 0 0 0 0 0 0
RA.8. 11| 13 |H vy o 35471 sol 1773 1173 0 0 0 0 0 0 0 0 0
Re.8.11| 14 |EBESGEES <L) 4,000 50| 2 045 0 0 0 0 0 0 0 ol 2045 0
Re.8.11 15 |BHBE (2 E—@H) 2.1970 50| 1,098 0 0 0 0 0 0 0 o] 1,008 0
R4.8.19| 16 |Exmimic 60| 100]  eoo]  s00 0 0 0 0 0 0 0 0 0
Ra.8. 10| 17 [#z% o 1850 s0] 925 0 0 0 0 0 0 ol 92 0 0
RA.8. 19| 18 |BRAmEREATHE s,m3| sol 2. 208 0 0 0 0 0 0 o| 2 208 0 0
Ra.8.20| 19 |ERsgse 5.670| 50| 2 835 0 0 0 0 0 0 0 o| 2835 0
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R4.8.22 20 |BEHLIB(L 700] 100 700 700 0 0 0 0 0 0 0 0 0
R4.8.22| 21 |EBREXR(9AM 120,110} 503 60, 055 0 0 0 0 0 0 0] 60, 055 0 0
R4.8.23) 22 |BHER (MPHHEZEASR) 10, 000 100| 10, 000| 0| 10,000 0 0 0 0 0 0 0 0
R4.8.24| 23 |BIELIB{E 500 Iool 500' 500 0 0 0 0 0 0 0 0 0
R4.8. 24| 24 [HRIEAR (THHR) 1,308 50' 654 0 0 0 0 0 0 0 0 654 0
R4.8.24| 25 |BHEFHMR (S =a—2K) 1,641 50| 820| 0 0 0 0 0 0 0 820 0 0|
R4.8.24| 26 |BIAM (2 E—BHMR) 1.635 50| 817 0 0 0 0 0 0 0 0 817 —ol
BERL (KDDI 8 %) <:tH#FI, 427
R4.8.25 27 (™ e mo 180m> 9,427 500 4.713 0 0 0 0 0 0 0 of 473 0]
R4.8.25 28 |H V1 4t 3.724 50 1.862] 1.862 0 0 0 0 0 0 0 0 0|
R4.8.29| 29 |EBELL 1,680 50 840 0 0 0 0 0 0 0 0 840 )|
R4.8.29[ 30 |7—JILNETHI® 7.7131 501 3,856 0 0 0 0 0 0 0 0] 3,856 0
R4.8.29| 3N |EBHEHK (RRERE) +EAFHH 8.690( 100] 8.690 0 0 0 0 0 0 - 8690 0 0 0]
R4.8.30| 32 |EFsEig(t 660 100 660 660 0 0 0 0 0 0 0 0 0|
R4.8.30| 33 |BHBHEHBRELS (8 AN 25.240| 50| 12,620 0 0 0 0 0 0 0 0 0| 12, 620'
R4.8.30| 34 |MEEE (EEHFME. QALK 6,187 1001 6,187 0 0 0 0 0 0| 6.187 0 0 0|
R4.8.311 36 {sKE(5/24~7/22) 3,036] 50] 1.518 0 0 0 0 0 0 of 1.518 0 a
R4.8.31| 36 |HFE)—ZR (8 /%) 48,180 50| 24,090 24,090 0 0 0 0 0 0 0 0 0]
0 0 0 0 0 0 0 0 0 0 0|
A&t 373, 426 220.153] 68,225 10,000 0| 15,675 0 0| 25.620| 71,146] 16,858] 12, 620)
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R4.6.20| 1 |FHELB (EEOXILEEDSR) 3.000| 100] 3. 000] 0} 3.000 0 0 0 0 0 0 0 ]|
R4.9.1| 2 B (BF#FRS A, 8 A4 9,130 100] 9. 130] 0 0 0 0 0 ol 9.130 0 0 ]|
R4.9.2 TR (T/T~8/8) 6.044] 50] 3. 022 0 0 0 0 0 0 o 3,022 0 ]|
3
R4.9.2 HAK (7/23~8/24) 1,073} 504 536 0 0 0 0 0 0 0 536 0 ]|
RA.9.5| 4 |[R—LR—-EEE 16,500 95] 15,675 0 0 0} 15,675 0 0 0 0 0 ol
R4.9.7| 5 (EEEEIB#t 600[ 100 600} 600 0 0 0 0 0 0 0 0 ol
R4.9.11| 6 [ErsEigst 300 100 300| 300 0 0 0 0 0 0 0 0 of
R&9. 1| 7 {HYUk 42421 501 2,121 2.121 0 0 0 0 0 0 0 0 0
R4.9.12| 8 |ETEEIBH 1,200 100 11,2000 1,200 0 0 0 0 0 0 0 0 0
R4.9.13| 9 [EREIB{ 400| 100 400} 400 0 0 0 0 0 0 0 0 0
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